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1. Choose the correct answer from the
following : 1x8=8

(a) The book, The Social Problems of an
Industrial Civilization was written by

(i) Charles More .
(i) Daniel Bell
(i) Elton -Mayo
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(2)

(b) “Bureaucracy is a system of
administration characterised by
expertness, impartiality and absence of
humanity.” Who made this statement?

(i) Max Weber
(i) Max Horkheimer
(i) Karl Marx
(c) In which year, ‘Bombay Mill Hands
Association’ was established?
(i) 1881
(i) 1890
(iij) 1891
(d) “Entrepreneur is.an inventor who brings
the new combination to start and

accelerate the pace of economic
development.” Who said this?

(i) J. Schumpeter
(i) A.H. Cole
(iij) F. Night
(e) In which year, The Plantation Act’ was
implemented in India?
(i) 1948
(ij) 1951
(iii) 1952
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(3)

() WHO stands for
(i World House Organisation
(i) World Health Organisation
(i) World Health Occupation
(g9 The original word for ‘Industry’ is
(i) Indos
(i) Indus
(iii) Industria
(h) The book, Fundamentals of Industrial
Sociology is written by
(i) P. Gilbert
(i) R. C. Saxena
(iii) S. K. Mohanty
2. Answer/Wﬁte briefly on any four from the
following (within 150 words each) : 4x4=16

(a) Relationship between Industrial
Sociology and General Sociology

(b) Write ‘the characteristics of Industrial
Bureaucracy. j

(c) Identify the objectivés of Labour Welfare.

(d) Problems of Industrial Planning in India
(e) National Commission on Labour

() Labour Welfare activities in Railways
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(4)

3. Answer any four questions from the following

(within 500 words each) : 14x4=

(@) Write an essay on the growth and
importance of Industrial Sociology as an
academic discipline.

(b) What is Organisation? What are the
different types of organisation? Discuss
the importance of Informal Organisation
in industry. RN 4+4+6=

(c) Identify the different types of Trade
Unions and highlight some of the
problems of Trade Unions in India.

: T+7=

(d) Highlight the salient features of the
Factories Act of 1948.

(e) Define Labour Welfare. Discuss one of
the important agencies of Labour
Welfare prevalent in India.

() Critically evaluate the relationship
between - Industry and Social
Stratification.

(g) Evaluate the Industrial Policy of 1991 in
India.
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